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DIPLOMA IN DAIRY TECHNOLOGY (DDT) 

Term-End Examination 

December, 2011 

BPVI-011 : MILK PRODUCTION AND 
QUALITY OF MILK 

Time 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions. All the question carry equal 
marks. 

1. 	Fill in the blanks : 	 10x1=10 

(a) The NDDB was constituted in the year 

(b) Key Village scheme was launched during 

(c) Intensive Cattle Development project was 
launched in the year 	 

(d) Indian Veterinary Research Institute is 
located at 

(e) National Dairy Research Institute is located 
at 	 

(f) The basic unit in the Anand Pattern of 
cooperative is 	 
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(g) The main objective of 	 was to 

create a virtual flood of rurally produced 
milk and lay a f6undation for modernizing 
India's dairy industry. 

(h) Bhartiya Agro Industries Foundation was 

establish by 	 

(i) National Co-operative Dairy Federation of 
India was registered in the year 	 

(j) Name the crossbreed cow developed b)>- 

 crossing of Holstein Friesian and Sahiwal 
cows at Military Dairy Farms, Meerut. 

2. 	Select the most appropriate answer from the four 
choices given in the below. 	 10x1=10 

(a) Sunandini develop in : 

(i) 	Kerla 	(ii) Karnataka 

(iii) Tamilnadu 	(iv) Gujrat 

(b) Crossing Brown Swiss bulls with Sahiwal 
and Red Sindli, Zebu cows at NDRI Karnal. 

(i) 	Sunandini 

Frieswal 

(iii) Karan Swiss 

(iv) None of the above 
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(c) Buffalo breed which contains highest milk 
fat is 

(i) 	Bhadawari 	(ii) Surti 

Jafrabadi 	(iv) Mehsana 

(d) According to their utility, the Indian breed 
of cattle classified into : 

(i) 	One 	(ii) Two 

(iii) Three 	(iv) Four classes. 

(e) Protein which is present in highest amount 
in colostrum is : 

(i) 	casein 	(ii) lactalbumin 

(iii) immunoglobulin (iv) None 

(f) Milk is a deficient in which mineral ? 

(i) 	Calcium 	(ii) Iron 

(iii) Potassium 	(iv) Phosphorus. 

(g) The normal specific gravity of cow milk 
ranges from : 

(i) 	1.028-1.032 	(ii) 	1.034-1.036 

(iii) 1.038-1.040 	(iv) 1.042-1.046 

(h) Refractive index of milk ranges from : 

(i) 1.3440-1.3480 	(ii) 1.4440-1.4480 

(iii) 1.4840-1.4880 	(iv) 1.5440-1.5480 
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(i) Freshly drawn milk is : 

(i) 	slightly acidic 	(ii) 	highly acidic 

(iii) slightly alkaline (iv) highly alkaline 

(j) Temperature and Time combination in 
LTLT pasteurization is : 

(i) 63°C for 30 seconds. 

(ii) 6.3°C for 30 minutes 

(iii) 63°C for 30 minutes 

(iv) 63°C for 3 seconds. 

1 ),‘ 

3. 	Define any ten of the following : 

(a) Heifer 

(b) Co-operative 

(c) Working capital 

(d) Cross-breed 

(e) Dam 

(f) Breed 

(g) Colostrum 

(h) Weaning 

(i) Teaser bull 

(j) Milk-shed area 

(k) Bull 

10x1=10 
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4. 	Write aims/ objectives of any five of the followings: 
(a) National Cooperative Dairy Federation of 

India. 
(b) BAIF 
(c) ICAR 
(d) Gosadan Scheme 
(e) Milk Grid 
(f) FAO 
(g) Cooling of Milk 
(h) Grading up. 

5x2=10 

	

5. 	Differentiate between any five of the followings : 
(a) Cow and Buffalo milk 	 5x2=10 

(b) Pure breed and cross breed 
(c) Hand milking and Machine milking 
(d) Brucellosis and Anthrax 
(e) Colostrum and milk 
(f) Frieswal and Sunandini 
(g) Lysozyme and Lactoferri 
(h) Refrigeration and Thermisation 

	

5. 	Write short notes on any four. 	 4x2.5=10 
(a) AMUL 
(b) Specific gravity of milk 
(c) Plateform test 
(d) Milk as complete food. 
(e) Murra buffalo 
(f) GDP 
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7. 	Answer the followings : 	 5x2=10 

(a) Any two cross-breed of cattle 

(b) Any two National Institute engaged in 
Dairy Development. 

(c) Write name of any two bacterial pathogens 
responsible for disease in human beings. 

(d) Name any two Dairy development project 
launched by Government of India. 

(e) Any two Indian/exotic breeds of goats. 

	

8. 	Write in detail about the different plateform test 
performed at dairy plants. 	 10x1=10  
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*.ltAlaT11.-011 : 	T dctilq-t 	Ta 
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1. 	 10x1=10 

(a) flat a-4 	 fT:fr 
77{1 I 

(b) fa--47f 7F3Tru 	 

(c) -74N7 

(d) I.TRART 74 

ft:g-dt1 

14 cbmf "eftItTP-TTi, 

(e) 71 	f 

t I 

argit119 Tft-P-TT9 fP2rd.  

(f) ft 31-19 7*-T1 
t 
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(g)  	ia-u4 -3-ckv-zr, 91-R-a-lzr ( 
r 	a9 -1. 31-reTr{FTo-r 	atl-{ixritirr 

0-a do-iirqd 7 721P kit 4Ff 

trf I 

(h) 4TTtd1q - 	3 S117T ( I 	3 79) oh T-2T1797, 

A ail 2.ft 

(i) 1417-ff t 	:17 	oh I ( 	i "cfrit7 ql 

	 tft-t-a.  fwzrr , lit 

(j) 4,14 (46) 14 
44) ,(1*( ractAci#wr-t7 , 11a --r 

7r14 f- ftf71 

2. 	 acbc-, ► * 	Traffw-  3LITICI 371( 

WI 	: 	 10X1=10 

(a) Tra.tt  	 arffr ora t : 

(i) 	t-t-F 
	

(ii) 	oh 'I ,  doh 

(iii) -61-7 dI 
	

(iv) 	(Id 

(b) 	t 37( 371 amino 	 14 .T.3-9' 
16 ,41(-1 atl{ 	-ftitt 	(TrP:0 	foci a.)( 

3r7r fwzrr Trzrr? 

(i) Vtt 
	

(ii) yiw-taci 

a.)(1 -ft7ir-{q 	(iv) zcrT)-wT 	161 
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(c) 	•4-  chl-i 	1 T 	aril 	Hill 	I 

(i) 	 7-d1 

(iii) 	 (iv) 14-617NT 

(d) +11q 	141747 -91=T 	rq-4. 	317TR 
Wif 7  midi TFIT t ? 

(i) 	•Cr- (ii) 

(iv) 	TR 

(e) 	oh 	3-0q0 4i 4-11)1( 4 r1S1 4-11-1 Thaff t : 

(i) tTn7 

(ii) cf-d(leDeki-i-1 

(iii) 71;l9)-  - 1 (1 seLci -f 

(iv) 37171-*T 	4 	 
(f) TT 4 41 *17Nf9 ocri 

(i) 	 (ii) 

(iii) 	4 	di It1 4-1 	(iv) 	411t-4114 

(g) 7171   31Taffk-TT  	t - 

(i) 	1.028 —1.032 	(ii) 1.034 —1.036 

(iii) 1.038 —1.040 	(iv) 1.042 —1.046 

(h) 77* 	3-11:Ptifw 	t : 

(i) 	1.3440 —1.3480 

(ii) 1.4440 —1.4480 

(iii) 1.4840 —1.4880 

(iv) 1.5440 —1.5480 
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(i) 	01 ■111 	t : 

(ii) 	dtcl 311 11-4 

kirftzr 	(iv) d't1 kitzr 

a) 	1 (1 	LlItcbtol 	114 1-111 7-4 717:17 

-ffr-e4F t : 

(i) 30 *g t Sri 	v  63° 

(ii) 30 	 t 	 6.3° *1. 

(iii) 30 ri-Nd 	63° A. 
(iv) 3 A%3-  -1C-R 63°14. 

3. 	 7 7Fr trftleErff 	: 	 10x1=10 

(a) 341( 

(b) Tir*-171" TIFTfrff 

(c) 	 TrAl• 

(d) t~rnt titre 

(e) 

(f) 

(g) 

(h) TC9T 

(i) zlwt ,r1 

a) 	i 4.1cror 71s  

(k) 	*115 
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5x2=10 

	

5: /WrriV* atd7 TERZ Wei(: 	 5x2=10 

(a) TTP:f -cr4 4.f 7f 

(b) 41TTf" -Thff 	 

(c) TRW A .7 ,-11 -cr4 -R7NA IN korai-if 

(d) W-I'crq A-4-1A 

(e) 	74 TT 

(f) "Rq' 11-9t91.  

(g) 	giwi 	(..,) ,4t 

(h) .cr4 21-grirri 
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4x2.5=10 

7. 	(ri+-1 	tgcf  	: 
	 5x2=10 

(a) TIM 	1:1-*-fta.  -I • 
(b) -r-4--Fr 	Tr71, --zr 
(c) Hvil 4 .a41.--z-ocrr-9- * frig d7Rqi41 

I \Alch 	TT 

(d) (31R7 t-Rchit 	 fq-*-Fr 

4 0 \MIR 

(e) .0t trrt-d-l-v -ratt 	

8. 	Tfz:M -f-*7 	air 	i:Kketwi 
10x1=10

kir(v-cii(f- 171 
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